

Triple B Scratch League 25-26

Wednesday 7:00 pm

Triway Lanes

Lanes 1 - 14

USBC Certification:

Important Messages

Q1 WINNERS - BOWLERS SANCTUARY - CAP - LES MANN

Team Standings

Place	#	Team Name	1st Part		2nd Part		3rd Part		4th Part		Year-To-Date WON	Y-T-D % WON	High Game	High Sers
			WON	Place	WON	Place	WON	Place	WON	Place				
1	12	Ballerz	115½	6	91	14	90½	1	0	0	297	50.5	983	2698
2	3	Pepsi	107½	8	119	4	85	2	0	0	311½	53.0	956	2752
3	5	HRC Enterprises	152	2	126½	2	84	3	0	0	362½	61.6	992	2817
4	2	Bowlers Sanctuar	153½	1	114½	6	81	4	0	0	349	59.4	958	2664
5	7	1909 Performance	84	13	122	3	79	5	0	0	285	48.5	941	2597
6	1	Strike Zone Pro	98½	10	103	10	78	6	0	0	279½	47.5	1000	2743
7	9	Gil's Auto	101½	9	96½	12	67½	7	0	0	265½	45.2	936	2529
8	4	Mike Burn's Team	116½	5	111	8	67	8	0	0	294½	50.1	902	2584
9	6	Browns Furniture	98½	11	100½	11	65	9	0	0	264	44.9	936	2516
10	8	Wolff Brothers	131½	4	150	1	62	10	0	0	343½	58.4	973	2791
11	11	Jim Brown's Team	69	14	109½	9	58½	11	0	0	237	40.3	1000	2781
12	13	EPAK Manufacturing	88½	12	118	5	57½	12	0	0	264	44.9	942	2601
13	10	Orrson Custom Bo	141	3	94	13	53	13	0	0	288	49.0	988	2726
14	14	Jerry's Home Fur	110½	7	112½	7	52	14	0	0	275	46.8	1026	2617

Review of Last Week's Bowling.....

Lanes	Team Name	-1-	-2-	-3-	Total	Last Wk WON		Team Name	-1-	-2-	-3-	Total	Last Wk WON
1-2	Jim Brown's Team	782	882	800	2464	8½	<-->	Jerry's Home Fur	720	1026	871	2617	19½
3-4	Browns Furniture	727	800	790	2317	12	<-->	Strike Zone Pro	770	818	754	2342	16
5-6	Orrson Custom Bo	869	785	811	2465	10	<-->	EPAK Manufacturing	810	838	861	2509	18
7-8	Pepsi	787	798	800	2385	9	<-->	Gil's Auto	826	901	759	2486	19
9-10	1909 Performance	856	879	783	2518	18	<-->	Bowlers Sanctuar	789	815	807	2411	10
11-12	Ballerz	786	840	799	2425	18	<-->	HRC Enterprises	827	750	790	2367	10
13-14	Wolff Brothers	773	786	731	2290	5	<-->	Mike Burn's Team	842	850	892	2584	23

Lane Assignments

	1-2	3-4	5-6	7-8	9-10	11-12	13-14
Wk22 02/18	2-12	14-3	8-6	10-4	11-1	7-9	5-13
Wk23 02/25	4-7	9-11	1-5	8-3	13-12	6-10	2-14

Individual High Averages

235.33	Derek Duncan	230.80	Jim Brown	226.82	Mike Burns	224.64	Ted Kays Jr.	224.27	Les Mann
222.91	Jon Caugherty	222.37	Gordon Jackson	220.95	Bobby Wenger	220.77	Vince Yoder	219.16	Chad Harper

High Individual Match Points

59	Derek Duncan	56	Bobby Wenger	55	Darren Bradley	50.5	Paul Miller	50	Mike Burns
49	Jon Caugherty	49	Joe Horvatic	48.5	Sean Hreha	48.5	Rod Kurjian	48	Chantel Meshew

Season High Scores

Team Scratch Game		Team Scratch Series	
1026	Jerry's Home Fur	2817	HRC Enterprises
1000	Strike Zone Pro	2791	Wolff Brothers
1000	Jim Brown's Team	2781	Jim Brown's Team
Scratch Game		Scratch Series	
300	Jim Brown	834	Mike Burns
300	Derek Duncan	800	Chase Dreibelbis
299	Mike Burns	792	Jon Caugherty

Split 1 High Scores

Team Scratch Game		Team Scratch Series	
994	Strike Zone Pro	2726	Orrson Custom Bo

Team Scratch Game

988 Orrson Custom Bo
956 Pepsi

Scratch Game

300 Tony Carson
300 Derek Duncan
290 Les Mann

Team Scratch Series

2608 HRC Enterprises
2601 EPAK Manufacturing

Scratch Series

771 Tony Carson
762 Bobby Wenger
757 Derek Duncan

Split 2 High Scores

Team Scratch Game

1000 Strike Zone Pro
1000 Jim Brown's Team
914 Orrson Custom Bo

Scratch Game

300 Jim Brown
300 Derek Duncan
296 Ryan Reed

Team Scratch Series

2781 Jim Brown's Team
2743 Strike Zone Pro
2635 Orrson Custom Bo

Scratch Series

800 Chase Dreibelbis
764 Derek Duncan
702 Bobby Wenger

Last Week's Top Scores

Team Scratch Game

1026 Jerry's Home Fur
901 Gil's Auto
892 Mike Burn's Team

Scratch Game

299 Mike Burns
269 Chris Steele
265 Ryan Merckle

Team Scratch Series

2617 Jerry's Home Fur
2584 Mike Burn's Team
2518 1909 Performance

Scratch Series

834 Mike Burns
715 Ryan Merckle
703 Doug Lipp

Team Rosters

Name	Points Won	Points Lost	%Won	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
1 - Strike Zone Pro Lane 10 Avg=821												
Anthony LaRocca	28.0	44.0	38.89 %	10456	54	193	258	679	167	194	172	533
Kim Merckle	39.0	33.0	54.17 %	10873	54	201	268	684	218	155	185	558
Mark Rutherford	42.0	38.0	52.50 %	12470	60	207	269	732	197	210	226	633
Vince Yoder	38.0	42.0	47.50 %	13246	60	220	280	757	188	259	171	618
2 - Bowlers Sanctuar Lane 1 Avg=826												
Paul Miller	50.5	33.5	60.12 %	12234	63	194	265	664	202	160	165	527
Kim Mann	44.0	36.0	55.00 %	12009	60	200	278	672	184	164	173	521
Rod Kurjian	48.5	31.5	60.63 %	12484	60	208	267	702	224	234	214	672
Les Mann	38.0	46.0	45.24 %	14129	63	224	290	748	179	257	255	691
3 - Pepsi Lane 4 Avg=825												
Chuck Brennaman	33.0	51.0	39.29 %	10600	60	176	231	598	144	151	184	479
Paul Blair Jr	17.0	15.0	53.13 %	4880	24	203	279	712	213	210	156	579
Wash Haney Sr	43.0	41.0	51.19 %	13309	63	211	279	747	205	215	258	678
Derek Duncan	59.0	25.0	70.24 %	14826	63	235	300	781	225	222	202	649
4 - Mike Burn's Team Lane 8 Avg=807												
Steve Yeley	24.5	51.5	32.24 %	9253	54	171	257	616	136	169	166	471
Joe Horvatic	49.0	31.0	61.25 %	12080	60	201	255	664	192	202	225	619
Jay Sheriff	32.0	32.0	50.00 %	10068	48	209	268	702	215	233	212	660
Mike Burns	50.0	30.0	62.50 %	13609	60	226	299	834	299	246	289	834
5 - HRC Enterprises Lane 13 Avg=839												
Selena Good	11.0	5.0	68.75 %	2455	12	204	279	732	175	204	189	568
Scott Galloway	25.5	14.5	63.75 %	6197	30	206	268	718	229	201	169	599
Anthony Couch	44.0	36.0	55.00 %	12474	60	207	277	749	179	161	175	515
Jon Caugherty	49.0	23.0	68.06 %	12037	54	222	279	792	244	184	257	685
6 - Browns Furniture Lane 6 Avg=787												
Austin Bradley	26.5	49.5	34.87 %	9983	57	175	230	629	175	190	180	545
Jon Klingler	40.0	40.0	50.00 %	11070	60	184	256	648	131	199	210	540
Donnie Evans Jr	33.0	43.0	43.42 %	11869	57	208	266	738	202	180	214	596
Bobby Wenger	56.0	20.0	73.68 %	12594	57	220	289	762	219	231	186	636

Name	Points Won	Points Lost	%Won	Pins Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total	
7 - 1909 Performance Lane 11 Avg=783												
Damian Brenneman	19.0	45.0	29.69 %	8544	48	178	233	655	173	233	186	592
Katelyn Eldred	39.0	29.0	57.35 %	9744	51	191	267	649	238	230	181	649
David Keagy	42.0	34.0	55.26 %	11653	57	204	279	713				0
Adam Webb	3.5	12.5	21.88 %	2523	12	210	266	689	247	194	193	634
8 - Wolff Brothers Lane 5 Avg=831												
Darren Bradley	55.0	29.0	65.48 %	12685	63	201	279	712	185	203	174	562
Matt Coffelt	33.0	43.0	43.42 %	11665	57	204	258	746	179	225	207	611
Sean Hreha	48.5	35.5	57.74 %	13057	63	207	279	743	194	197	187	578
Chad Harper	42.0	34.0	55.26 %	12492	57	219	279	785				0
9 - Gil's Auto Lane 12 Avg=812												
Dominic Aiello	28.5	51.5	35.63 %	11020	60	183	248	613	147	238	166	551
Zeno Middleton	39.5	40.5	49.38 %	11781	60	196	278	685	201	215	191	607
Gilbert Dudley	40.0	44.0	47.62 %	13342	63	211	279	767	256	191	180	627
Gordon Jackson	43.0	41.0	51.19 %	14009	63	222	279	747	222	257	222	701
10 - Orrson Custom Bo Lane 7 Avg=826												
Josh Mellott	37.0	39.0	48.68 %	11280	57	197	255	678	192	154	199	545
Doug Lipp	36.5	39.5	48.03 %	11542	57	202	269	715	248	237	218	703
Chris Safarik	32.5	39.5	45.14 %	11477	54	212	270	738	193	224	207	624
Jeremy Briggs	34.0	46.0	42.50 %	12959	60	215	288	729	236	170	187	593
11 - Jim Brown's Team Lane 9 Avg=804												
Sean Miller	13.0	23.0	36.11 %	4568	27	169	217	572				0
Danny Kurjian	28.5	47.5	37.50 %	11143	57	195	255	682	154	255	149	558
Chase Dreibelbis	43.0	37.0	53.75 %	12604	60	210	287	800	213	178	218	609
Jim Brown	34.5	25.5	57.50 %	10386	45	230	300	786	236	247	207	690
12 - Ballerz Lane 2 Avg=822												
Dave Merckle	41.0	43.0	48.81 %	11704	63	185	277	690	152	210	161	523
Don Reese	40.0	44.0	47.62 %	12621	63	200	248	694	178	190	223	591
Ryan Merckle	44.5	39.5	52.98 %	13468	63	213	277	726	265	237	213	715
Ted Kays Jr.	33.5	26.5	55.83 %	10109	45	224	268	764				0
13 - EPAK Manufacturing Lane 14 Avg=807												
Chantel Meshew	48.0	36.0	57.14 %	12007	63	190	266	676	202	185	213	600
Braxton Freeman	32.5	51.5	38.69 %	12278	63	194	257	686	190	197	214	601
Nick Patterson	45.0	39.0	53.57 %	13233	63	210	258	675	192	209	234	635
Ryan Reed	29.0	55.0	34.52 %	13421	63	213	296	740	226	247	200	673
14 - Jerry's Home Fur Lane 3 Avg=823												
Randy Clark	33.0	47.0	41.25 %	10605	60	176	243	616	160	243	181	584
Dawson Gaynor	41.5	38.5	51.88 %	12333	60	205	269	679	204	255	220	679
Matt Griffin	31.0	49.0	38.75 %	12376	60	206	279	735	159	259	234	652
Chris Steele	20.0	12.0	62.50 %	5671	24	236	277	728	197	269	236	702

Temporary Substitutes Division 1: Enter Div Label



Division 1: Enter Div Label

Name	Avg	Pins Gms	High Game	High Sers	-1-	-2-	-3-	Total
Bradley	120	0 0	0	0				0
Roger Adams	120	0 0	0	0				0
Joe Allred	120	0 0	0	0				0
Jonathon Bailey	120	0 0	0	0				0
Brian Ball	208	1251 6	255	712	215	161	163	539
John Barnard	197	6530 33	268	720				0
Jordan Blair	120	0 0	0	0				0
Randy Blair	120	0 0	0	0				0
Lou Bogavich	120	0 0	0	0				0
Cody Boreman	120	0 0	0	0				0
Joe Bowman	120	0 0	0	0				0
Jody Boyd	120	0 0	0	0				0
Matt Boyes	120	0 0	0	0				0
Dominic Boysaw	120	0 0	0	0				0

Name	Avg	Pins	Gms	High Game	High Sers	-1-	-2-	-3-	Total
Doug Briggs	120	0	0	0	0				0
Jimmy Brink	120	0	0	0	0				0
Gary Brobson	208	1880	9	258	666				0
Aiden Brown	218	1311	6	267	714				0
Avery Brown	209	2518	12	279	707				0
Curtis Brown Jr.	120	0	0	0	0				0
Jarrold Brown	120	0	0	0	0				0
Matt Brown	120	0	0	0	0				0
Josh Brumfield	120	0	0	0	0				0
Joe Butler	120	0	0	0	0				0
Joey Butler	120	0	0	0	0				0
Jeff Callahan	209	3142	15	242	645				0
Tom Caramel	120	0	0	0	0				0
Andrew Carpenter	201	2415	12	250	691				0
Tony Carson	234	8436	36	300	771				0
Matt Channell	120	0	0	0	0				0
Cory Cline	120	0	0	0	0				0
Alex Coffelt	bk219	0	0	0	0				0
Jayden Combs	120	0	0	0	0				0
Bill Conover	120	0	0	0	0				0
Ray Cook	202	2428	12	236	667				0
Tony Couch	120	0	0	0	0				0
Scott Davis	120	0	0	0	0				0
Sammy Dawley	120	0	0	0	0				0
David Densmore	120	0	0	0	0				0
Taylor Devaul	120	0	0	0	0				0
Arron DeWitt	120	0	0	0	0				0
Darin DeWitt	120	0	0	0	0				0
Jim Dilyard	192	1152	6	224	581				0
Storm Dominguez	120	0	0	0	0				0
Ross Downing	255	766	3	278	766				0
Larry Dudley	191	2300	12	223	605				0
Cody Duncan	120	0	0	0	0				0
Derek Duncan	120	0	0	0	0				0
Mike Dunham	120	0	0	0	0				0
Nikki Eagon	213	639	3	237	639				0
Alyssa Eikleberry	120	0	0	0	0				0
Mike Eikleberry	120	0	0	0	0				0
Dave Ennis	120	0	0	0	0				0
James Erlenbach	120	0	0	0	0				0
Donnie Evans III	120	0	0	0	0				0
Donnie Evans II	120	0	0	0	0				0
Ethan Fike	120	0	0	0	0				0
Matt Fliger	120	0	0	0	0				0
Matt Fliger	120	0	0	0	0				0
Matt Fowler	204	5528	27	268	682				0
Tony Franz	120	0	0	0	0				0
Matt Frock	120	0	0	0	0				0
Royce Fry	120	0	0	0	0				0
Jason Fugate	120	0	0	0	0				0
Shawn Gerber	120	0	0	0	0				0
Shawn Graber	120	0	0	0	0				0
Jeremy Green	120	0	0	0	0				0
Thomas Gress	120	0	0	0	0				0
Anne Gribble	120	0	0	0	0				0
Jason Gribble	120	0	0	0	0				0
Rich Guill	120	0	0	0	0				0
Bryan Hall	120	0	0	0	0				0
Robert Harper	188	4522	24	246	680	179	202	226	607
Larry Harris	207	622	3	221	622				0
Larry Harris	120	0	0	0	0				0
Josh Hart	120	0	0	0	0				0
Al Hartzler	bk205	0	0	0	0				0
Bill Heeter	200	6001	30	243	664	198	222	223	643

Name	Avg	Pins	Gms	High Game	High Sers	-1-	-2-	-3-	Total
Brad Heimberger	120	0	0	0	0				0
Greg Heintz	120	0	0	0	0				0
Tim Hepner	120	0	0	0	0				0
Steve Hershberger	120	0	0	0	0				0
Dave Hipp	120	0	0	0	0				0
Rick Hipp	120	0	0	0	0				0
Denver Hoff	120	0	0	0	0				0
Ryan Hosler	120	0	0	0	0				0
Brian Houser	210	1263	6	245	672				0
Tom Houser	120	0	0	0	0				0
Mike Howman	120	0	0	0	0				0
Tony Howman III	202	606	3	220	606				0
Zack Howman	225	2702	12	267	745				0
Billy Hreha	120	0	0	0	0				0
Jeremy Hudson	120	0	0	0	0				0
Jerry Hudson	120	0	0	0	0				0
Gordon Jackson	bk214	0	0	0	0				0
Patrick Jaeckin	120	0	0	0	0				0
Leaunti Jefferson	120	0	0	0	0				0
Allen Jerge	120	0	0	0	0				0
Jamie Johnson	120	0	0	0	0				0
Khayyam Johnson	120	0	0	0	0				0
J.D. Jones	120	0	0	0	0				0
Warren Jordan	120	0	0	0	0				0
Dan Justice	120	0	0	0	0				0
DJ Justice	120	0	0	0	0				0
Traci Kays	120	0	0	0	0				0
Bill Keener	120	0	0	0	0				0
Anthony Keiser	120	0	0	0	0				0
Andrew Kenney	120	0	0	0	0				0
Nick Keserich	bk200	1210	6	247	627				0
Jake Kettler	200	2409	12	233	640				0
Kevin Kittell	120	0	0	0	0				0
Brian Kocher	120	0	0	0	0				0
Dimitri Kocher	120	0	0	0	0				0
Quintan Kocher	120	0	0	0	0				0
Rocky Kovach	120	0	0	0	0				0
Ken Krebs	120	0	0	0	0				0
Ken Krebs	120	0	0	0	0				0
Kreg Krebs	120	0	0	0	0				0
Amir Lindsey	120	0	0	0	0				0
Littleton Lloyd	120	0	0	0	0				0
Littleton Lloyd Jr	120	0	0	0	0				0
Hal Lockwood	120	0	0	0	0				0
Brantyn Long	bk219	616	3	224	616				0
Brysen Long	120	0	0	0	0				0
Tyler Mann	bk190	1444	8	241	586				0
Marcus Marcelli	120	0	0	0	0				0
Justin Mathews	120	0	0	0	0				0
Brett Mccourry	120	0	0	0	0				0
Ronny McCullough	215	7106	33	268	690				0
Brandon McKinney	120	0	0	0	0				0
Tyron McKinney	120	0	0	0	0				0
Brandon Mcvicker	120	0	0	0	0				0
Michael McVicker	120	0	0	0	0				0
Tyler Meredith	120	0	0	0	0				0
Addy Meshew	bk200	594	3	227	594				0
Aeron Meshew	bk226	0	0	0	0				0
Tim Metz	120	0	0	0	0				0
Jamie Miller	160	963	6	213	545				0
Terry Miller	120	0	0	0	0				0
Ryan Mitchell	120	0	0	0	0				0
Trent Mitchell	120	0	0	0	0				0
Devonte Morgan	120	0	0	0	0				0

Name	Avg	Pins	Gms	High Game	High Sers	-1-	-2-	-3-	Total
Matt Mosser	120	0	0	0	0				0
Josh Mottayaw	221	1329	6	246	698				0
Jeff Mullen	120	0	0	0	0				0
Candace Mumford	217	653	3	236	653				0
Jerry Murphy	120	0	0	0	0				0
Jacob Myers	120	0	0	0	0				0
Jon Myers	120	0	0	0	0				0
Cary Orlando	120	0	0	0	0				0
Jason Pettus	120	0	0	0	0				0
John Poling	120	0	0	0	0				0
Jeff Porch	120	0	0	0	0				0
Alex Powers	bk200	667	3	249	667				0
Jim Prosser	120	0	0	0	0				0
Jonny Ray	120	0	0	0	0				0
Chris Rhine	120	0	0	0	0				0
Larry Rieser	bk202	0	0	0	0				0
Larry Riser	120	0	0	0	0				0
Ryan Roderick	120	0	0	0	0				0
Chris Sampsel	190	6273	33	267	664				0
Kevin Sampson	120	0	0	0	0				0
Eric Sands	120	0	0	0	0				0
Cassidy Schaub	120	0	0	0	0				0
Larry Schaub	120	0	0	0	0				0
Jeremy Scott	bk220	0	0	0	0				0
Jonathan Shahan	120	0	0	0	0				0
Reggie Shaw	120	0	0	0	0				0
Ryan Shenberger	120	0	0	0	0				0
Dayton Shepherd	120	0	0	0	0				0
Bart Shirley	120	0	0	0	0				0
Dave Shock	120	0	0	0	0				0
Marissa Simon	120	0	0	0	0				0
Earl Simpson	120	0	0	0	0				0
Jeff Sisson	120	0	0	0	0				0
Cooper Smith	120	0	0	0	0				0
Kam Smith	120	0	0	0	0				0
Paul Smith	120	0	0	0	0				0
Rob Sommers	120	0	0	0	0				0
Wes Staley	120	0	0	0	0				0
Justin Starn	120	0	0	0	0				0
Joe Stauffer	120	0	0	0	0				0
George Steele	120	0	0	0	0				0
Chriss Steiner	195	585	3	210	585				0
Tim Steiner	175	1053	6	191	536				0
Donnie Stewart	120	0	0	0	0				0
Ray Stimmer	120	0	0	0	0				0
Kyle Stitzlein	bk200	0	0	0	0				0
Rich Stoffer	120	0	0	0	0				0
Joe Stretch	120	0	0	0	0				0
Joe Sturdivant	120	0	0	0	0				0
Jordan Stutzman	120	0	0	0	0				0
Arik Sulser	120	0	0	0	0				0
Arik Sulser	120	0	0	0	0				0
Caden Swanger	120	0	0	0	0				0
Dustin Sword	120	0	0	0	0				0
Dustin Sword	bk221	0	0	0	0				0
Dylan Tanner	184	553	3	210	553				0
Dennis Terlaak	120	0	0	0	0				0
Frank Testa	120	0	0	0	0				0
Mandi Testa	120	0	0	0	0				0
Kara Thomas	120	0	0	0	0				0
Dave Tinch	120	0	0	0	0				0
Lane Tisko	120	0	0	0	0				0
Nate Troyer	120	0	0	0	0				0
Kevin Tyson	208	1248	6	254	701				0

Name	Avg	Pins	Gms	High Game	High Sers	-1-	-2-	-3-	Total
Ron Vance	120	0	0	0	0				0
Bob VanRiper	120	0	0	0	0				0
Ryan VanRiper	176	530	3	186	530				0
Korben Warren	180	541	3	200	541				0
Karlie Way	215	1935	9	246	673	191	203	202	596
Noah Wengerd	197	591	3	243	591				0
Brian Williams	120	0	0	0	0				0
Tim Williams	120	0	0	0	0				0
Logan Yelton	120	0	0	0	0				0
Emma Yoder	bk210	552	3	220	552				0
Jacob Yoder	120	0	0	0	0				0
Jared Yoder	120	0	0	0	0				0
J.J. Zakikian	bk197	506	3	185	506				0

Last Week's Top Game Scores

Bracket Payouts

Bowler	Lane	Br 1	Refund	Winnings	Amt Paid	Balance Due
Brown, Jim	1	74.00	6.00	74.00	-	80.00
Dudley, Gilbert	8	18.00	-	18.00	-	18.00
Duncan, Derek	7	4.00	-	4.00	-	4.00
Haney Sr, Wash	7	30.00	-	30.00	-	30.00
Horvatic, Joe	14	10.00	-	10.00	-	10.00
Mann, Les	10	24.00	-	24.00	-	24.00
Merckle, Ryan	11	44.00	-	44.00	-	44.00
Patterson, Nick	6	14.00	-	14.00	-	14.00
Steele, Chris	2	84.00	14.00	84.00	-	98.00
Webb, Adam	9	4.00	-	4.00	-	4.00
Yoder, Vince	4	16.00	-	16.00	-	16.00

\$2 Brackets - Wednesday Scratch - Scratch

Game 1	Game 2	Game 3	
1_ Lane 1 236 Jim Brown	247 Jim Brown		-- #1 -- ** Finished **
1_ Lane 7 205 Wash Haney Sr		207 Jim Brown	
2_ Lane 4 188 Vince Yoder	191 Gilbert Dudley		
2_ Lane 8 256 Gilbert Dudley			
3_ Lane 7 225 Derek Duncan	222 Derek Duncan		\$10 Les Mann
3_ Lane 2 197 Chris Steele		255 Les Mann	\$4 Jim Brown
4_ Lane 12 175 Selena Good			
4_ Lane 10 179 Les Mann	257 Les Mann		

\$2 Brackets - Wednesday Scratch - Scratch

Game 1		Game 2		Game 3		
1 Lane 10	179 Les Mann	194 Adam Webb		207 Jim Brown		-- #2 -- ** Finished **
1 Lane 9	247 Adam Webb					
2 Lane 1	236 Jim Brown	247 Jim Brown				
2 Lane 4	218 Kim Merckle					
3 Lane 2	197 Chris Steele	269 Chris Steele		236 Chris Steele		\$10 Chris Steele
3 Lane 4	188 Vince Yoder					\$4 Jim Brown
4 Lane 1	213 Chase Dreibelbis	191 Gilbert Dudley				
4 Lane 8	256 Gilbert Dudley					
1 Lane 8	256 Gilbert Dudley	191 Gilbert Dudley		171 Vince Yoder		-- #3 -- ** Finished **
1 Lane 12	179 Anthony Couch					
2 Lane 4	188 Vince Yoder	259 Vince Yoder				
2 Lane 10	179 Les Mann					
3 Lane 12	175 Selena Good	247 Jim Brown		236 Chris Steele		\$10 Chris Steele
3 Lane 1	236 Jim Brown					\$4 Vince Yoder
4 Lane 6	192 Nick Patterson	269 Chris Steele				
4 Lane 2	197 Chris Steele					
1 Lane 8	256 Gilbert Dudley	191 Gilbert Dudley		234 Nick Patterson		-- #4 -- ** Finished **
1 Lane 1	236 Jim Brown					
2 Lane 12	175 Selena Good	209 Nick Patterson				
2 Lane 6	192 Nick Patterson					
3 Lane 14	192 Joe Horvatich	269 Chris Steele		236 Chris Steele		\$10 Chris Steele
3 Lane 2	197 Chris Steele					\$4 Nick Patterson
4 Lane 11	265 Ryan Merckle	237 Ryan Merckle				
4 Lane 4	188 Vince Yoder					
1 Lane 8	256 Gilbert Dudley	191 Gilbert Dudley		193 Adam Webb		-- #5 -- ** Finished **
1 Lane 4	218 Kim Merckle					
2 Lane 10	179 Les Mann	194 Adam Webb				
2 Lane 9	247 Adam Webb					
3 Lane 1	236 Jim Brown	247 Jim Brown		236 Chris Steele		\$10 Chris Steele
3 Lane 4	188 Vince Yoder					\$4 Adam Webb
4 Lane 12	175 Selena Good	269 Chris Steele				
4 Lane 2	197 Chris Steele					

\$2 Brackets - Wednesday Scratch - Scratch

Game 1		Game 2		Game 3		
1 Lane 7	205 Wash Haney Sr					-- #6 -- ** Finished **
1 Lane 2	197 Chris Steele	215 Wash Haney Sr				
2 Lane 8	256 Gilbert Dudley			258 Wash Haney Sr		<hr/> \$10 Wash Haney Sr \$4 Jim Brown
2 Lane 1	213 Chase Dreibelbis	191 Gilbert Dudley				
3 Lane 1	236 Jim Brown					
3 Lane 6	192 Nick Patterson	247 Jim Brown		207 Jim Brown		
4 Lane 10	179 Les Mann					
4 Lane 11	265 Ryan Merckle	237 Ryan Merckle				
1 Lane 4	218 Kim Merckle					-- #7 -- ** Finished **
1 Lane 2	197 Chris Steele	155 Kim Merckle				
2 Lane 8	256 Gilbert Dudley			213 Ryan Merckle		<hr/> \$10 Ryan Merckle \$4 Jim Brown
2 Lane 11	265 Ryan Merckle	237 Ryan Merckle				
3 Lane 14	192 Joe Horvatic					
3 Lane 10	179 Les Mann	202 Joe Horvatic		207 Jim Brown		
4 Lane 1	236 Jim Brown					
4 Lane 7	225 Derek Duncan	247 Jim Brown				
1 Lane 8	256 Gilbert Dudley					-- #8 -- ** Finished **
1 Lane 11	265 Ryan Merckle	237 Ryan Merckle				
2 Lane 10	179 Les Mann			255 Les Mann		<hr/> \$10 Wash Haney Sr \$4 Les Mann
2 Lane 12	175 Selena Good	257 Les Mann				
3 Lane 9	247 Adam Webb					
3 Lane 1	236 Jim Brown	194 Adam Webb		258 Wash Haney Sr		
4 Lane 2	197 Chris Steele					
4 Lane 7	205 Wash Haney Sr	215 Wash Haney Sr				
1 Lane 10	179 Les Mann					-- #9 -- ** Finished **
1 Lane 1	236 Jim Brown	247 Jim Brown				
2 Lane 2	197 Chris Steele			236 Chris Steele		<hr/> \$10 Chris Steele \$4 Ryan Merckle
2 Lane 4	188 Vince Yoder	269 Chris Steele				
3 Lane 12	179 Anthony Couch					
3 Lane 14	192 Joe Horvatic	202 Joe Horvatic		213 Ryan Merckle		
4 Lane 12	175 Selena Good					
4 Lane 11	265 Ryan Merckle	237 Ryan Merckle				

\$2 Brackets - Wednesday Scratch - Scratch

Game 1		Game 2		Game 3		
1 Lane 7	225 Derek Duncan	191 Gilbert Dudley		180 Gilbert Dudley		-- #10 -- ** Finished **
1 Lane 8	256 Gilbert Dudley					
2 Lane 10	179 Les Mann	178 Chase Dreibelbis				
2 Lane 1	213 Chase Dreibelbis					
3 Lane 11	265 Ryan Merckle	237 Ryan Merckle		213 Ryan Merckle		\$10 Ryan Merckle
3 Lane 1	236 Jim Brown					\$4 Gilbert Dudley
4 Lane 4	218 Kim Merckle	155 Kim Merckle				
4 Lane 2	197 Chris Steele					
1 Lane 7	225 Derek Duncan	237 Ryan Merckle		236 Chris Steele		-- #11 -- ** Finished **
1 Lane 11	265 Ryan Merckle					
2 Lane 2	197 Chris Steele	269 Chris Steele				
2 Lane 10	179 Les Mann					
3 Lane 8	256 Gilbert Dudley	191 Gilbert Dudley		171 Vince Yoder		\$10 Chris Steele
3 Lane 14	192 Joe Horvatic					\$4 Vince Yoder
4 Lane 12	179 Anthony Couch	259 Vince Yoder				
4 Lane 4	188 Vince Yoder					
1 Lane 8	256 Gilbert Dudley	191 Gilbert Dudley		207 Jim Brown		-- #12 -- ** Finished **
1 Lane 10	179 Les Mann					
2 Lane 1	236 Jim Brown	247 Jim Brown				
2 Lane 12	179 Anthony Couch					
3 Lane 2	197 Chris Steele	194 Adam Webb		225 Joe Horvatic		\$10 Joe Horvatic
3 Lane 9	247 Adam Webb					\$4 Jim Brown
4 Lane 12	175 Selena Good	202 Joe Horvatic				
4 Lane 14	192 Joe Horvatic					
1 Lane 12	175 Selena Good	247 Jim Brown		207 Jim Brown		-- #13 -- ** Finished **
1 Lane 1	236 Jim Brown					
2 Lane 7	225 Derek Duncan	222 Derek Duncan				
2 Lane 10	179 Les Mann					
3 Lane 2	197 Chris Steele	237 Ryan Merckle		213 Ryan Merckle		\$10 Ryan Merckle
3 Lane 11	265 Ryan Merckle					\$4 Jim Brown
4 Lane 7	205 Wash Haney Sr	191 Gilbert Dudley				
4 Lane 8	256 Gilbert Dudley					

\$2 Brackets - Wednesday Scratch - Scratch

Game 1		Game 2		Game 3		
1 Lane 6	192 Nick Patterson	269	Chris Steele	236	Chris Steele	-- #14 -- ** Finished **
1 Lane 2	197 Chris Steele					
2 Lane 1	236 Jim Brown	247	Jim Brown			\$10 Les Mann \$4 Chris Steele
2 Lane 14	192 Joe Horvatic					
3 Lane 12	175 Selena Good	191	Gilbert Dudley	255	Les Mann	
3 Lane 8	256 Gilbert Dudley					
4 Lane 10	179 Les Mann	257	Les Mann			
4 Lane 12	179 Anthony Couch	161	Anthony Couch			
*** Lost the tie						
1 Lane 12	179 Anthony Couch	269	Chris Steele	236	Chris Steele	-- #15 -- ** Finished **
1 Lane 2	197 Chris Steele					
2 Lane 4	188 Vince Yoder	222	Derek Duncan			\$10 Chris Steele \$4 Jim Brown
2 Lane 7	225 Derek Duncan					
3 Lane 14	192 Joe Horvatic	178	Chase Dreibelbis	207	Jim Brown	
3 Lane 1	213 Chase Dreibelbis					
4 Lane 10	179 Les Mann	247	Jim Brown			
4 Lane 1	236 Jim Brown					
1 Lane 2	197 Chris Steele	247	Jim Brown	207	Jim Brown	-- #16 -- ** Finished **
1 Lane 1	236 Jim Brown					
2 Lane 4	188 Vince Yoder	202	Joe Horvatic			\$10 Ryan Merckle \$4 Jim Brown
2 Lane 14	192 Joe Horvatic					
3 Lane 9	247 Adam Webb	237	Ryan Merckle	213	Ryan Merckle	
3 Lane 11	265 Ryan Merckle					
4 Lane 12	179 Anthony Couch	191	Gilbert Dudley			
4 Lane 8	256 Gilbert Dudley					
1 Lane 7	205 Wash Haney Sr	191	Gilbert Dudley	207	Jim Brown	-- #17 -- ** Finished **
1 Lane 8	256 Gilbert Dudley					
2 Lane 2	197 Chris Steele	247	Jim Brown			\$10 Jim Brown \$4 Vince Yoder
2 Lane 1	236 Jim Brown					
3 Lane 4	188 Vince Yoder	259	Vince Yoder	171	Vince Yoder	
3 Lane 12	175 Selena Good					
4 Lane 14	192 Joe Horvatic	237	Ryan Merckle			
4 Lane 11	265 Ryan Merckle					

\$2 Brackets - Wednesday Scratch - Scratch

Game 1		Game 2		Game 3		
1 Lane 4	188 Vince Yoder	259 Vince Yoder		171 Vince Yoder		-- #18 -- ** Finished **
1 Lane 10	179 Les Mann					
2 Lane 1	236 Jim Brown	247 Jim Brown				\$10 Gilbert Dudley \$4 Vince Yoder
2 Lane 6	192 Nick Patterson					
3 Lane 8	256 Gilbert Dudley	191 Gilbert Dudley		180 Gilbert Dudley		
3 Lane 4	218 Kim Merckle					
4 Lane 2	197 Chris Steele	178 Chase Dreibelbis				
4 Lane 1	213 Chase Dreibelbis					
1 Lane 8	256 Gilbert Dudley	191 Gilbert Dudley		180 Gilbert Dudley		-- #19 -- ** Finished **
1 Lane 9	247 Adam Webb					
2 Lane 1	213 Chase Dreibelbis	178 Chase Dreibelbis				\$10 Jim Brown \$4 Gilbert Dudley
2 Lane 2	197 Chris Steele					
3 Lane 10	179 Les Mann	202 Joe Horvatic		207 Jim Brown		
3 Lane 14	192 Joe Horvatic					
4 Lane 7	205 Wash Haney Sr	247 Jim Brown				
4 Lane 1	236 Jim Brown					
1 Lane 7	225 Derek Duncan	222 Derek Duncan		207 Jim Brown		-- #20 -- ** Finished **
1 Lane 14	192 Joe Horvatic					
2 Lane 1	213 Chase Dreibelbis	247 Jim Brown				\$10 Wash Haney Sr \$4 Jim Brown
2 Lane 1	236 Jim Brown					
3 Lane 8	256 Gilbert Dudley	191 Gilbert Dudley		258 Wash Haney Sr		
3 Lane 2	197 Chris Steele					
4 Lane 10	179 Les Mann	215 Wash Haney Sr				
4 Lane 7	205 Wash Haney Sr					
1 Lane 2	197 Chris Steele	222 Derek Duncan		202 Derek Duncan		-- #21 -- ** Finished **
1 Lane 7	225 Derek Duncan					
2 Lane 1	213 Chase Dreibelbis	178 Chase Dreibelbis				\$10 Jim Brown \$4 Derek Duncan
2 Lane 4	188 Vince Yoder					
3 Lane 4	218 Kim Merckle	155 Kim Merckle		207 Jim Brown		
3 Lane 10	179 Les Mann					
4 Lane 1	236 Jim Brown	247 Jim Brown				
4 Lane 14	192 Joe Horvatic					

\$2 Brackets - Wednesday Scratch - Scratch

Game 1		Game 2		Game 3		
1	Lane 4 <i>218 Kim Merckle</i>					-- #22 -- ** Finished **
1	Lane 1 236 Jim Brown					
2	Lane 6 <i>192 Nick Patterson</i>					
2	Lane 8 256 Gilbert Dudley					
3	Lane 2 197 Chris Steele					
3	Lane 14 <i>192 Joe Horvatich</i>					
4	Lane 10 <i>179 Les Mann</i>					
4	Lane 1 213 Chase Dreibelbis					
<hr/>						
1	Lane 9 247 Adam Webb					-- #23 -- ** Finished **
1	Lane 2 <i>197 Chris Steele</i>					
2	Lane 6 192 Nick Patterson					
2	Lane 10 <i>179 Les Mann</i>					
3	Lane 8 256 Gilbert Dudley					
3	Lane 14 <i>192 Joe Horvatich</i>					
4	Lane 1 <i>213 Chase Dreibelbis</i>					
4	Lane 1 236 Jim Brown					